1. Is job satisfaction as important as wages/salaries Why do people work? What motivation may they have ? How does a loss of job influence their lives?





	In my opinion, job satisfaction is quite important thing. People spend at work significant part of their lives and therefore is important for them to enjoy their work. I think that when people are satisfied with their working condition and like the job, they work better. That is good for the employer, too. I simply cannot imagine to work my whole life somewhere, where I don't like it, where the work brings me no satisfaction. It is possible to do that for some time, but I would try to look around and find some new job. It is not good for the employer, when he has to hire a new staff every once in a while, On the other hand I have to admit that job satisfaction is not as important as a salary. People work in bad or harmful conditions when they get paid enough. It is always a question of money, because in a modern society is practically impossible to live without money.


	And that is perhaps main reason why people work. They simply have to earn their own living. We have to buy food, clothing, pay our bills etc. Especially when people have a family it is a big motivation to have a good job with a decent salary, because they have a lot of expenditures, for example for children etc. Nowadays, money play a quite important role in our lives. Not very many things are for free.


	Being unemployed is usually a big complication. The first reason is that suddenly you loose most of your incomes. Actually, you may loose all of your incomes and the subsidy you get from the government just isn't enough. Secondly, it is simply a man's nature to do something to work. Of course, there are some people who hate to work, but nobody makes them to. They can do what they want. But for a common person, a lost of a job is very unpleasant. Especially when you cannot find a job for a long time. Suddenly you have a plenty of time and there isn't much to do. For an older person it may be a tragedy to loose a job he used to do for a years. And older people, or I should say older people with little skills have problems with finding a new job. The situation is quite different when we talk about older people with a university degree and with years of experience. I don't think they have problems with finding a new job. But still, unemployment is a problem. People get depressive feelings from sitting the whole day at home and watching TV. On the other hand, in Czech Republic is the, situation not so problematic, if you want, you will find a job.


�
2. Explain the need far capital in business and some sources of capital.





	Having enough of capital is one of the essential things if you want to run a business. Of course, you have to have same ideas of what to do and an appropriate experience in the line of business you want to run etc. But the capital plays an important role. It is the lifeblood of industry. There are many things you need it for; such as financing the premises and fittings, buying material, paying the employees and many more. When you are starting to run a business, you are facing the problem how and where to get sufficient amount of capital. The actual sum of money that you will need depends on what kind of business you are starting. There is a difference between setting up a small office for accounting or building a factory.


	There are several sources of capital.


	Firstly, you may have your own capital. This is typical for shopkeepers, service occupations and other small businesses. They usually take their initial capital from their personal savings or borrow it from their friends or relatives. When there are more partners, they can pool their capital to raise larger sum of money. The advantage of this way is that it is cheap, because you don't have to pay any interests. The disadvantage is that this way you usually cannot get enough capital to set up for example a factory.


	Secondly, you can ask for a bank loan. The problem is that a bank will not give you a loan without some guaranties. They want to ensure themselves that you will pay back. The interest is usually quite high and, especially from the beginning, paying back the loan may take  most of your profits. The advantage is that bank can provide you a large sum of money. This way of financing is usual for larger companies, far companies that can. afford it.


	Thirdly, you can plough back profits. It is said to be the best source of a short-term capital. Profits made are just gut straight back into firm, rather than being paid to the owners. Again, you don't have to pay any interests and it does not bring an outsider into the business. Another option is to use leasing: Leasing is a method of using machinery and equipment without buying. The leasing company provides the equipment which the firm needs at a fixed price for a fixed term. At the end of that lease, a lease is agreed on new equipment or the firm may have an option to buy the old equipment at a low price. It is usual to lease cars etc. Trade credit is very commonly used, both. for small and large companies. Most suppliers will offer credit terms of some sort, most likely a mantle account. Buying on credit gives you an extra flexibility in capital use. 


	These ways are perhaps the most common ways of taking care of capital. Besides that there are bank overdrafts and factoring.


�
3. Give two reasons why a partnership might be formed and mention some of its advantages.





	The fist reason why to form a partnership is the need for capital. When a partnership is formed, two or more persons can pool their capital together and then they share profits or losses in agreed proportions. The rights of each partner are set in Partnership. Deed. The business unit doesn't have to be registered and the liability is unlimited. The advantage is that this way they can get more capital than as sole traders. The disadvantage is that you have to share the profits.


	The second reason why to form a partnership is the need to expand. The partners pool not only their capital together, but also their enterprise and knowledge. A partnership can do mare things than just one man. They can take care of more complicated activities. Another advantage is that the partners can share their ideas and then realise them together and make profit from it. The disadvantage is that if you want to make an important decision and you are a member of a partnership, you have to consult it with your partners. A sole trader doesn't have to ask anyone. The other disadvantage is the unlimited liability. Then something happens, all the partners' are liable. So you may have to pay for someone else' s mistake.


�
4. You want to find a (new) job. What would you do? What procedures are you likely to face?





	First of all I would think about what I want to do, what do I qualify for : Then I would start to look for a new job. I would buy some paper and read the advertisements or I would visit some specialised agency. Another thing I could do is to visit some companies and ask at their Personnel Department, if there are any vacancies. Usually, you can fill up a questionnaire there and they will at least put you in their database and in ease they need you, they will contact you.


	When you want to respond to an advertisement, you can either write them a letter or visit that particular company personally. An advertisement usually says at the bottom line "send a short curriculum vitae and references to ..". A curriculum vitae is a brief account of your past history and you should also enclose a short description of your previous occupations and state your qualifications. The company will study your CV and if it looks all right, they will send you an, application form. There you will have to state clearly things like your age,. education, qualifications and work experience. They, may also ask for references from your previous employers. You will send it back and after some time you are invited for a personal interview. The staff who hold an interview together are called an interview panel. They will ask you different questions about your imagination of conditions of work, salary etc. It is important to make a good impression. You will never get a second chance to make the first impression, so therefore you should go to your interview in a decent dress, shaved etc. And when you are successful in all these procedures, you are likely to get the desired job.�
5. Compare road and rail transport and give at least three advantages and disadvantages of each.





	Road and rail transport are two very common kinds of transport. Road transport is advantageous from many points. It is fast over short distances, reduces handling, links up with remote areas and it is relatively cheap over short distance up to 300 kilometers. But there are also many disadvantages of road transport. It is one of the causes of congestion in large town and industrial areas. It is slow for long journeys. The loads it can carry are limited: Breakdowns or delays may occur, especially in a bad weather. When there is no return load, it becomes more expensive.


	Railways make remote areas economically productive by transporting their produce such as wheat, coal, iron ore to distant places. The advantages of railroad transport are following. It is very suitable for bulk loads. You can charter a special train for carrying things like milk, mall, cement or petroleum. The routes are direct, even to the heats of cities. It is cheap for containerised cargoes. The main disadvantages are : The routes are fixed. Places away from these routes require other forms of transport ( it is usual to combine road and rail transport for such places). There tends to be more handling, and therefore greater risk of damage. There are heavy capital and maintenance costs to recover, which makes prices not only high, but difficult to calculate. It also. has fixed timetables, which prove to be inconvenient. Some deliveries are slow, especially in Czech Republic trains do not go to fast. Rail transport is not suitable for all kinds of goods (for example perishables). It tends to be more expensive for short runs and small loads. When we compare the advantages and disadvantages of both rail and road transport we see that generally what is suitable for road transport isn’t suitable for rail transport and vice versa. Nowadays rail transport is being used for large bulk loads and the road transport for the rest.


�
 6. Which factors would a firm consider how to transport its goods ? Give at least four and explain why they should be considered.





	There are four kinds of transport commonly used : road transport, rail transport, transportation by a ship and transportation by a plane. To choose the most suitable one, each firm should consider these. factors:


	First of all they should consider, what kinds of transport are available at firm's location. Is there a railway or an airport there 2 Is the firm located near a harbour ? Then they can choose the best way or a combination of for example road transport to a harbour and then by ship to its final destination.


	Where they want to transport their goods, it means the distance. For a short distance transport is cheaper road transport, but it is not suitable for large bulk loads. For long distance they can use a cargo ship, rail transport, or for special purpose a plane. An important role play the freight costs. Using a plane is far more expensive than using a rail transport. .


	What kind of goods is to be transported ? Is it a. perishable ? It means they have to consider, how fast do they need to transport it. The distance plays a role here too, because for short distances is road transport fast (up to about 300 kilometres), but for long distances is faster rail transport. When it is not a perishable goods and the distance is long, then they should use the rail transport.


	But if its a small load of perishable goods and the distance is short, for example a supply of fresh vegetable from a wholesaler to a retailer, road transport should be used.


	And at last, when there are several equal option, the freight costs will decide. These costs increase the price of goods and that is a non wanted effect. A firm should use the cheapest kind of transport that meets their requirements.


�
7. Outline some of recent trends in retailing. Describe two main advantages and disadvantages


for customers for buying by mail.





	Nowadays, markets are nationwide or even international. Makers produce in bulk and pass their products on to specialized middlemen, who ensure that the millions of us who are the customers get the goods how, where snd when we want them from aur local retailers. That makes gossible for us to buy in ţe goods made practically anywhere in the world. It would be camplicated to buy far exaţngle elecţc appliances straight fiam a Japanese produccr. This system af retall trade enables producers an easy access to markets all over the world. It is goixl for both producers and customers. The relţailor keeps the producer informed of custamers' likes and dislikes and he sells his goods. The retailar provides for a customer information and advice, credit and aften exchange of goods and after sale service. TheTe are many difţerent types of retail units. Some of the small ones are doar to-door sale, but this kind of retail is pxohibited in some cauntries, then market sfall.s and small independent stores. As opposite to small retail units are the large ones. These include for example supeţmarkets that haveţ been one of the fastest growing types of retail outlet since the Second World War. Then there are many department stores, superstores, hypermarkets - theţv are the largest ones with a sales are 2500 square meters and above. In the U. S.A. are also very papular so called malls, or shopging cities.


	As for buying by mail, it is also getting popular. The advantage is that you can sit atţ home, look at the catalogue or watch the commexcial gresentation an TV and then you have a plenty of time to decide what do you want. You hs,ve enough time to think about it and especially in the commercial presentations on TV they will show you what the product is good for and how are you supposed to use it.


	Another advantage is that you wrll get your order delivered to your home. You don't hnve ta go anywhere. Yţou just sit comfortably at home and they will bring it to you.


	Qne of the disadvantages is that you see only a picture of the product. You can't take it in your hand and try it like in a regular store. Therefore you may be a little bit surprised when you get your ordered product.


	Another disadvantage is thct you have to allow some time for deliveiy. If you need something iznmediately, you just go and buy it at stare, but for mail-ordered it will take at least two weeks to get it delivered.


�
8. Give the functians of a retailer. Compare (not descrţ.be) any three different types of retailers.


services:





The retailer provides valuable funct.ions to three people:


To the manufacturer - not only does he scll his goods for him, but he keeps him informed of how they are selling and of customers' likes and dislikes.


Ta the wholesaler - the retailer enables the ţrholesaler to make more accurate forecasts af future requirements by keeping him abreast with market trPnds.


For the custamer, the retailer provides following


- lsp ay o ranges o s oc s.


- Information and advice.


- Packing and free deliveryţ.


- CrPdit, and often exchange of goods.


- After sales service.


There are many types of retail units that differ from each other in size of a sales area, variety and qLiantity of goods offered, the way the goods is being sald and other characteristics. Let's compare for example docţr-to-door salP, small shap and supermarket. The first difference is that a door-to- doar salesman' will visit you at your home. TţThen you ţrant to buy something in a shop, you have to go there. A door-to-door salesman will offPr you a single praduct, usually samething special. In a small shop you have a choice, there are 'usually more different brands of that particular product. Arid in a large supermarket, they usually have many different kinds and brands of a product far different prices. On the other hand, a door-to-door salesman will present the product thcţroughly and he will show or teaţh you how to use it, he will tell you about all the features. Of course, you can trţr the product in a store too, but is not the same. What type of a retail will be used depends on the product, whether it is a g rcţcţţ ry, f urn i'Cure ţţr an electţrarţic: app 1 iance.


�
9. Characterize a.dvertising as a part of marketing. Vţhat's its functionţ Vţhat methods of advertising do you consider mast effective and why?.





Advertising is an itnportant part of marketing strategy. It plays a major role in helping to sell goods in the mass market an is often used to launch a new product. It is also used to keep a brand names in the public cye and to show how olle firrn's brţ.nd is differentiated from the other. Firms a.dvertise in order to inform ~ ta tel1 the potential customers about goods and services they prţduee and to persuade ~ to incnţase sales by persuading people to buy a certain brand of goods or buy at particular shop. The five key advertising media are TV, national press, radia, magazines, billboards and pasters. They differ form each other in price, number of people they reaeh etc. For example, thirty second long commercial on TV costs about I80 000 Czech crowns ~ I mean the sum you have to pay to the TV station for broadcasting. Ma.king of such a commercial clip is not a cheap matter as well. But on the other hand TV reaches millions of people at a time nationwide. If you put you r a.dvertisement in a local rad io statian, it won't be so expensive, but you won't reach that many people. If you wţ.nt to put yaur ţ.dvertisement in a rnţ.gazine, yau have to choose carefully the ri,ght one, because each magazine reads a different group ar kind of people. It depends on that particular product. You have ta identify your target audience, it means the group of people you are trying to reach. To get the most value for money, that is to be cost~effective, it is necessary for advertising to tţnatch the advertising medium to the target audience.


�
10. Your company has made a new produet. You are. respţţnsiblţ for marketing. ţhoose the type of product and explain the procedure.





	Let's say I have to market a new model of a car, a midcţle class model. First of all, I would start a massive advertising campaign in magazines, televisions and billboards. I would try to introduce, the car to a wide public. After some time I would ţhange the way of advertising to tell the potential customers more information about that car. For example, I would suggest to all my dealers ta havP a test-week, a week when everybody can come and take a shoz:t test drive, I would give to every visitor an information booklet. This booklet would contain thP information about supplied engines, available colors, types of radios yau can. get and other extras. I would also tell the potential customers about ways of financing, such as leasing etc. Because the competition in car industry is very hard and the quality of cars is about the same, I would try to emphasize on sţţme features other car produc rs do not of fer or do not make. For exam le I wţ-ţuldţţan airba  p or an excellent radio as a standard equzpment. It is important to diffPrentiate the product. I have to arţmit ţ that especially ţf rom the begging theadvertising would be very expensive, but in my opinion it would be worth, it. lţ.fter some time I would reduce the advertising, but not completely. You have to keep people informed of your product, they need to know about it. Therefore I wauld put occasianallţr an advert into a magazine or on TV. Just to inform about improvements, about special offers etc.


	The way of marketing the product always depends on that particular product. If I had to promote a tooth paste, I would do it a different way. It also depends on how muţ~h moneyţ you carţ spend on advertisement, how knţţwn your brand is and many othPr things.


�






11. 'ţhat is market research and why do f irms use it ?





 The aim of good marketing is that a firms should


 prnduce goods and services which cansumers want.


 Therefore market research is used to find out what it


 is. It involves variety of different activities used


 for f inding cut what the consumer wants, how much is


 he wil.ling to spend, where do they want to buy it and


 . how to pPrsuade them to buy. The information is used


 by producers before producing a new product and


 putting it on the market. The more a firm can find


 ţţut about the people who buy or may buy their


,


 produets the easier it becomes both to produce what


 they want and then to persuade them to buy. `fou need


 the informatiţţn about cansumers' sex, age, income,


 job habits, likes ancţ dislikes, where they live and


 how, ţrhat mag'azines and newspapersţ; they read, ţ,rhat


 radio stations do they listerl to or zţ'hat TV. stations


 da they watch. All these facts can be used to improve


 the way in which goods and services are marketed,


 what medium should be used for advertising the


 product. You can also use these information to divide


 the market into the segments. A market segment is a


 group of consumers who have similar needs because


 theZr are like each other in some ways. After


 considering all these information, yau can adjust


 yţţur product so that it meets consumers' needs. It


 ţ,rould be a risky thing to produce a product without


 knowing whom to sell it. Therefore is marketing


 research very important for every firm.


�






12. Give tw.cţ reasons why someţţne may wish to run


their awn business ? Are there any risks involved zn


rurţning one' s own business ? TnThy yes - no ?





There are several. reasans why someone may want to run


his own business. Some peaple just want to be their


own basses. It is an advantage, because nobody tells


you what ta da, you can have a holidayţ anţrtime you


want te, etc. Tţell, you have ta obey some rules ţţr


customs, fţţr example it wauld not be a good idea to


clase your private shop before the Christmas when


peaple buy many different things. But it is yaur


choice. lţrzather reason may be that you don't want


arţybadţr else to profzt from your work. If you work at


factory, you get a fixed salary and a company ma.kes


make prof it f rom yaur wo rk toa. If you are the owner,


all ţou earn is yours. Of course, after paying taxes.


It is a motivatian for ţrou to work better and earn


mare. But running yaur own business doesn't bring you


just aclvantages, there are many risks involved tao.


You may not be successful and earn less than yţu used


to earn before, or yau may even bankrupt and loose


the money you put in your business. When you are


running a business, you have much bigger


respansibility, you are responsible for your


emplayees. If you are a sole trader, you have


unlimited liability. It means that if yau carţnot pay


yaur debts fram your business incame, you have ta cIo


sa fram yaur personal assets. It brings you a lot af


wţţrr ies too. ţnThen you are emplţţyed somewhere, you are


usually told what to do. If you run your own


business, you have to have some ideas6ţ. what tţţ da, how


tc be better than your competitors. Running a


 <


business is sirriply a difficult thing, but if you are


successful, it brirţgs you maney and pez:sonal


satisfactian.


�






l3. A sharehţ-ţlder owns a part of a business. Explain


this statement. What will they get in return ? ţ'nThat


companies may issue shares ?





A shareholder owns a part of a business. It means he


cţwns a share ( or shares ) and it entitles hixn to


seţferal things. He can elect the Board of Directors


whţţ corltrol the company. His veting power is adequate


to the number of shares he owns. Usually, a small


shareholder has practically' no vţting power. As an


owner, you receive a part of the prof it as a


dividend. The partic:ular amount is adequate to the


number of shareţ yţţu own. There are several different


kinds of sharţs such as prior shares, shares for the


employees and others. A share. can be freely


transferred between buyers and sellers. A shareholder


has a limited liabil.ity.


Not every company can issue shares. In Great Britainţ


public limited companies may issue shares. There are


special rules for establishing and running such a


company. .A. Public Limited Company must have an


abbreviation PLC after its name. lţ "PLC" can appeal


to the public fcţr rnore' capital by means of issuing


shares arţd debentures. These shares are freely


transferable between buyers and sellers. They are


so.ld en the stock exchange.. This type of company is


typz.cal for large-scale natianal or international


enterprises.


�






 14. Explain the differerţce between limited and


 unlimited liability and the two legal documents that


 cezţtrol the affairs of limited companies.





 Unlimited liability means that if you cannot pay your


 ciebts from your business z.ncome, ţ you have do so from


 . yoLtr personal assets. This i.s typical for shopkeepers


 and service oecupations. Zimited liability means that


. an owner's liability is limited to the investment


 made. A company with limited liability may be a


 Private Limited Company with Ltd. after its name or a


 Public Limited Company with an abbreviation PLC after


 its name.


 Two legal cţoţ~uments that control the affairs of


 limited company are:


. Articles ţţf 1-ţssociation - it is a document recarding


 the way in which the company shall be managed and


 giving the rules by which its internal affairs shall


 be dealt with.


 Memorarţdum of Assţţciation - it is a dţţcument irţ which


 ţţbjects of the company, its name, allocation and


 other things are set down.


 When a Private Limited Company is set up, it must


 submit the Memorandum of Association to the Registrar


 . af Ccţmparţies and than it can begin business. When a


 Public. Zimited Company is ţormed, a founder member


 has to draw up a Memcţrandum ţţf Association and


 Azticles of Associatiorţ and send them together with


 other legal clocuments to the Registrar of Joint-stock


 Companies, who then grants a Certificate of


 Incorporation. After raising its capital and sending


 its Prospectus to the Registzar, it gets a Trading


 Certificate, which means that it can commence a


 business.


�






15. Explain the importance


its development in recent


trade and invisible trade ?





of international trade and


years . What is visible











The international trade is verZr important nawadays.


Countries import the things they need and export


their exceeding production. Not very many countries


in the world are totally econamically self


sufficient, practically nane. Perhaps the U.S.A. The


international trade is important for development af


national ecanomies of many cauntries. In recent


Zrears, movements to free trade and increase living


standards by farming cammon markets or customs unions


have grawn up amang ţ:ountries. The Eurapean Union is


a good example. This trend is likely to spread so


that cQuntries share the benefit of their


specialization with other countries without


artificial restrictions such as tariffs and quotas.


Czech Republic is alsa willing to join the European


Union.


Visible trade includes foodstuffs, raw materials and


finished goods, simply things that can actually be


seen.ţ The difference between visible export and


visible import is called a balance of trade or


visible balance. If a country imports more than it


exgorts, it has a deficit here.


Invisible tradP includes things like insurance,


banking, shipping and air services, tourism,


royalties etc., simply aur.earnings abroad. From this


we must subtract gavernment expendzture abroad. The


difference between such exparts and imports is called


irţvisible balance. Wnen we add the visible and the


invisible balance together, we get the current


balance, or balance of payments. A visible deficit


can be more than counterbalanced by invisible


surplus, giving an overall current account in


surplus.


�






16. ţ'hat do you understand by a "mixed economy" ?


What type cţf economy do you recommend for our country


and why ?





Basically, there are three kinds of economic systems


- free market ecenomy, where the decisions are znade


by private individuals, planned economy, where the


cţecisions are made by the government, or a


combination of these two - mixed economy. In a mixed


economy, there are both privately and state owned


eompanies. Usually the private sector is bigger than


the State owned. The government ccţntrols public


erţterprise. I:t includes things like schools,


hospitals etc. Public enterprise is supposed to serve


to all of us. It' s main aim is not to make profit, as


dis.ringuished from the private sector. The government


imposes taxes and than uses this income for financing


gublic enterprise. On the ather hand, in a mzxed


econcţmy the government doesn't control everything.


Practically all the business, factories and shcps are


owned by private incţividuals. Governmenţ may have a


share there, but it doesn't interferc. Modern


govPrnments know that the role of competition in


creating a successful economy is very important and


therefare dcţ their best tcţ encourage it.


In my.opinion, a mixed econemy is the best solution


for CzPch Republic. By now, most of business are


privately owrţed. But five years ago, all of them were


state owned. This process has brought many


ţ:omplicaticns and iţ is important for our government


to have an influence in some branches. The government


has to pass laws protecting our environment, right


know there are many ţroblems with health irţsurance


companies. In these things the deci5ion must be made


by the governmerlt and nat by the market.


�






 17. You are the Personnel Manager. How would you take


 on staff ? Describe the procedure.





 There are several ways how to take on staff. One way


 is to recruit in company. Management can inform


 people of new oppQrtunities by means of firm's notice


 beard or news bulletin. You can also promote your


 current employees and recruit the new ones for the


 lawer ranks. Usually, both existing workers and new


 comers need some training. Supervisors and managers


 are usuaily trained trough a colnbination of, evening


 and correspondence courses, seminars and rotation


 round the firm. Another possibility is to ask for


 rPcommendation from cţepartmental managers and


 supervisors. If it is necessary to recruit outside


. the company, there are several options how to do it.


 I could put a eompany's advertisement in a newspaper


 or magazine. It is quite common way. Fotential


 employee reads the advertisement and write a letter


 ţţf application with sonţe short information about him.


 Scţme of the applicazţts are then selected and invited


 for an interview. I could also use commercial and


 government emplţţyment offices or consultants. It


 depends on that particular occugation for that is a


. new staff needed.


�






 18. Explain the market mechanism.





 Any econcţmy has to make three basic decisions. These


 are what is to be produced, how is it to be produced


 anc:l hţţw is it to be distributed. In a market econnmy


 ,


 these decisions are made bţr private individuals


 (tagether with the government in some branches). The


, basic principle of the .free market economy is that a


 productian is based upen f ree enterprise. Feople and


 firms produce goods in order ta make money. Firms are


 trying to make as much profit as passible. They can


 enly achieve this byţproducing goads and services that


 their customers want and by preducing it as cheaply


 and efficiently as pnssible. Prices are the mechanism


 by which a free market system warks.. If the prices


 rose above the market price, there would be a surplus


 ar excess supply. As a result, goads wauld pil.e ţ.ţp ţin


 warehouses, shopkeepers would reduce their orders and


 manufactures would cut their output and the price


 wat.zld start to fall until supply and demand were in


 balance again. If the price fell bellow the market


 price, there wţţuld be excessive demand, or a


 shortage. As a result, shops would run out of goods,


 more manufactţ.zres would start ta produce the goods


 ,


 demandţd, and the price wauld rise until supply was in














 ţ .


 balance. with demand again. That is how market


 mechanism basicallţr works. Lt is based upon balance


 between the demand and supply and the mazket price


 determineţcţthis balance. '
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19. What is European Union ( former European Community ) 2 Give at least one faot frţm its


histozy. List three decision-making bodies and describe their activitiea.





The European Union is an orţţţnizatian of 15 countries : BeZgium, Fţ, Germany, Italy,


Luxembourg, rţrlţde, Reţpublic of Irelţand, United Kingdom, Grreece, Portugal,


Spain, Austria, Sweden and Finlatţd. The EU ie ofţen lmown as thc "Gommon Market", because


one of ita cţntral aims ie to have a frţee trade ad movţement of workers and cgpital bţetween its


members. It is not the only aim. Membcrs have the same extţ tariffa, tţne ia going to be a


Eurnpean cununcy, pzeviously called ECU ( Eţ Cun-ency Unit ), but the name was


recently ehanged to Euro. This p:rocesa of unification has involved and atill involves a,


tremenţioua change for people and fums and hae made the competition within the EU more


intee. Qn the other hand, there are more advantagea than dieadvantages. Europeen Union is


reaponaible for more than 20 percent of world trade, compared to the USA'a 13 parcent and


Japan's 12 percent.


European Union was formerly called European Cammunity. European community waa et up


by six countries in 195? by signing the Ticaty of Rome. Theae countries were Belgium, France,


West Crermany, Italy, Luxembourg, Netherlands.


The Enropean Union ia a political aa wcll as acoţwmic 'on: Its main institutions are:


The Council of Ministers is the Union's main decision making body, with esch member country


having a seat on the council. The voting power of each merţnber is baaed upon its population.


The Council tries to get unanimo vote on important matters.


The European Parliament haa 5ţţ members ( this may not be true anymore, because the


European Union has three new me7nbers ), who ane elected by votera in the separate countries


for s pariod of fţve yeara. The parliament has little real power apart from checking the work of


the Council of Ministers and the European Commission. It can ameţnd, or suggest ţtţanges in


lawa before they are passed bţy t'he Council and haa the power to reject the Union Budget.


The Court of Juatice is the ultimate court of appeal in the Union and can overnţ.le national


goveţrnmonta. It consists of 13 judges ( probe,bly more by now ), including one from each


member countiy, who intezpret the single ţ market laws, or decide on their meanirţg and how


they should be canied out.


�






20. Describe three methods of communicatian which may be used to convay informativn to an


overseas customer nnd compare them.





I will compare communication by telephone, fax and using an internationaZ computer network.


The oldest one of these three is telephone. It is still a vezy convenient way of communication.


The advantage is that yau can talk to somebody who is on a diiţerent cantinent wxthout a


prablem. But this way yau cannot send him sny documents. You can only taZk.


A fax nţachine givea you the aţty of sen,ding written documents using a telephone line.


Machines are atandţdized in grvugs fnr vRrioue speeds of treismission, but generally it allows


you to tţnnsmit an A4 page in a few seconds. The advantage is that you cţan send a written


letter, a picture or a diaţ this way. The disadvantage, or I should say the problem, is the


quality of transmission. Sometimes the documents you receive are impossible to read, so you


have to call the sender and tell him ta send the dacument again.


The youngest way of communication is by using a computes netwark, for example an Inthernet.


These services are based an central computer systems which are accessed over normal


telephone lines, by comguter terminals ar microcamputera to put messages into electronic


mailboxes belonging to other subscriber and to read the messages in ane's own mailbox. Thţce


systems oţer many more features, for example, cagies of a message sent to many destinations


and advice to the sender when a message has been. read. A disadvantage is that the recipient


must look in his mailbox, messages are not delivered to his machine.





�



